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1. (20%) Find the inverse of

1 2 3
A=]2 5 3

1 0 8

using row operations (Hint: [A | I] = [I |[A™1]).

2. Find (15%) a basis and (5%) nullity for the nullspace of

(2 2 -1 0 1
-1 -1 2 -3 1
1 1 -2 0 -1
o o0 1 1 1

(Hint: using row operations)
3. (20%) Solve the general solution for the following differential equation

d
2y =2e"
dx

4. (20%) Solve the general solution for the following differential equation
2

x—2 =2
dx «x Y

5. (20%) Find Fourier series expansion for the following function:

fx)=x for -4 <x <4
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